
Special Compound 
Inequalities



Solve, graph on a number line and give the solution as an interval

20. 2𝑥 − 5 > 3 𝑜𝑟 − 4𝑥 + 7 < −25

21.      2𝑥 − 5 > 3 𝑎𝑛𝑑 − 4𝑥 + 7 < −25

22. -x + 1 > -2     or       6(2x – 3) ≥ -6 

23. -x + 1 > -2     and       6(2x – 3) ≥ -6



40. x – 6 ≤ 18     and       3 – 2x ≥ 11

41. x – 6 ≤ 18     or       3 – 2x ≥ 11

42. 3(2x – 5 )> 15  and  4(2x – 1) > 10

43. 3(2x – 5 )> 15  or  4(2x – 1) > 10

Solve, graph on a number line and give the solution as an interval


